D1vISION WITH A REMAINDER II (H - SET 3)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

181) —36927 =~ 4 =

) —17697 + (—8) =
®3) 44642 + (—10) =
w1 T1467 + (—10) =
5 559 + (=2) =

5 —19665 + (—2) =
w7 34252 = (—6) =
188) —21611 =7 =

w0 —19025 + (—2) =
w0 29196 + (—3) =
191 —1357 +2 =

192) —12115 =2 =

w3 36155 + (—6) =
w0 55520 + (—10) =

105 34685+ 9 =

Mathematics: Division - Level 8 - Horizontal - Set 3
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508)
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510)

—55967 + (—7)

—13859 + 2 =

—3974 = (—9) =

—19996 + (—3)
—59446 + 10 =
—5305 +1 =
—17926 + (—5)
43281 =6 =
14657 + 2 =

0097 = (—1) =

—99113 = (—10) =

—3671 =1 =
—11384 =+ (—8)
7741 =7 =

5699 =5 =
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